STRENGTH OF MATERIALS I
    

2nd Midterm Exam, 13th December 2012
Name & Surname:
Number
       :
QUESTION 1. The three suspender bars are made of A-36 steel and have equal cross-sectional areas of 450 mm2. Determine the average normal stress in each bar if the rigid beam is subjected to the loading shown.
[image: image7.emf]
QUESTION 2. The AM1004-T61 magnesium alloy tube AB is capped with a rigid plate E. The gap between E an end C of steel solid circular rod CD is 0.2 mm when the temperature is at 30(C. Determine the normal stress developed in the tube and the rod if the temperature rises to  80(C. Neglect the thickness of the rigid cap.
Est = 200 GPa,  Emg = 44.7 GPa
(st = 12x10-6/(C,  (mg = 26x10-6/(C
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QUESTION 3. The shafts are made of A-36 steel and each has a diameter of 80 mm. Determine the angle of twist at end E and the maksimum stress of AB shaft. G=75MPa
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